APCSA

January Quiz

MULTIPLE CHOICE

1. The function heading

float TenToThePower( /* in */ int n )

is for a function that returns 10.0 raised to any integer power. Which of the following statements represents an appropriate use of the TenToThePower function?

a.  someFloat = 4.96 * TenToThePower(8) + 2.5;

b.  TenToThePower(6);

c.  if (TenToThePower(someInt) > someFloat)

        beta = 3;

d.  a and b above

e.  a and c above

2. If a module is supposed to compute the average of five numbers, which is more appropriate to use--a value-returning function or a void function?

a.  a value-returning function

b.  a void function

3. What is the appropriate function prototype for a function that receives a character letter grade and returns its integer equivalent on a four-point grading scale?

a.  void IntEquiv( char );

b.  void IntEquiv( int );

c.  int IntEquiv( char );

d.  int IntEquiv( char& );

e.  char IntEquiv( int );

4. The function

float Distance( /* in */ float velocity,

                       /* in */ float angle,

                      /* in */ float resistance )

{

    cout << "Distance was called. Returning 48.5" << endl;

    return 48.5;

}

is an example of:

a.  a driver

b.  a plug

c.  a stub

d.  a void function

5. To produce the output 2 4 6 8 10, what is the loop condition for the following loop?

n = 0;

do

{

    n = n + 2;

    cout << n << ' ';

} while ( ??? );

a.  n <= 10

b.  n < 10

c.  n < 8

d.  n >= 2

e.  n > 8

6. In the following code fragment, the programmer mistakenly placed a semicolon at the end of the For statement heading. What is the result?

cout << 'A';

for (count = 1; count <= 3; count++);

      cout << 'B';

cout << 'C';

a.  a compile-time error

b.  an infinite loop

c.  the output ABC

d.  the output ABBC

e.  the output ABBBC

7. What is the output of the following code fragment? (All variables are of type int.)

n = 2;

for (loopCount = 1; loopCount <= 3; loopCount++)

    do

        n = 2 * n;

    while (n <= 4);

cout << n << endl;

a.  4

b.  8

c.  16

d.  32

e.  64

TRUE/FALSE

8. The statement

return 3 * alpha + 8;

is valid in a value-returning function but not in a void function.

9. Given the function definition

float SomeFunc( /* in */ int n )

{

     ... 

return x;

}

a compile-time error occurs if the data type of x is different from float.

10. A high degree of communication complexity may indicate that a module is not functionally cohesive.

11. If a programmer has developed a large portion of a complete project and wants to test the developed portion before implementing the remaining functions, this programmer is more likely to need function drivers than function stubs.

12. Any Do-While loop can be rewritten as a While loop.

13. The body of a Do-While loop will always execute at least once, whereas the body of a For loop may never execute.

14. If a loop containing a break statement is nested within a Switch statement, execution of that break statement causes an exit from the loop but not from the Switch statement.

